CAS LX 522 Syntax I Sample sentences as of week 11

It is now late enough in the semester that our system is essentially completely in place. Here are a couple of sample derivations
worked all the way through in order to help clarify how they work.

The sentences we will examine here are the following:

Carmela said AJ’s advisor was told that AJ might want to study event-planning. (we will treat “event-planning” as noun)
The continuous drawing of complicated trees builds strong character.

If you wish you can try your hand at them first, before running through the derivations here. If you do, let me add a note about the first
sentence: We haven’t looked at tell yet, which is a ditransitive verb here. There is really only one possible structure, one which

according to the UTAH makes the tell-ee a Theme. One can argue about whether that is the right result, but we will accept that for
now.

Carmela said AJ’s advisor was told that AJ might want to study event-planning.

To begin, we want to get a general idea of what’s going on here. There are several embedded clauses here, which we can identify
partly by the main verbs of each clause.

The main verb of the lowest clause is study. It is a transitive verb, and is interpreted as if AJ is the Agent and event-planning is the
Theme. This clause is also nonfinite (to study).

The main verb of the next higher clause is want. It is interpreted with AJ as the Experiencer, and the lowest clause as the Proposition
(that is, the Experiencer wants the Proposition). We can see at this point that the Agent of the lowest clause must be PRO, since
otherwise AJ would be getting two roles (Experiencer of want and Agent of study). That also means the lowest clause is a CP (not just
aTP).

The main verb of the next higher clause is fell. Moreover, it is passive (was told), where AJ’s advisor is the Theme (see note above,
Theme being the one who was told), and the clause embedded under zell is the Proposition (the thing told). There is no Agent because
it is passive.



The main verb of the highest clause is say. The Agent of say is Carmela, the Proposition is the entire lower clause.

So, let’s work our way up. We start by building the lowest clause [cp Onypr, PRO to study event-planning], according to what we
determined above.

event-planning: This is essentially a mass noun (it certainly isn’t a count noun), so this goes with Dy gs. the indefinite determiner for
mass nouns. We also need a little n, because we always need a little n. So, to build the DP event-planning, we do this:

Merge event-planning and n.
This happens due to the Hierarchy of Projections (D > (PossP) > n > N), since the N didn’t need anything. So n projects.

nP

T
NP

n
[uN*] event-planning

Move N to n.
This checks the [uN*] feature of n.

nP
/\
n <NP>
/\
N n
event- [2NE]

planning



Merge nP and Qy;xss.

This happens due to the Hierarchy of Projections (D > (PossP) > n > N), since the n didn’t need anything. So D projects.
Note: We had said previously that D had a [uN*] feature that drives this step. However, that would not work if we
have a PossP (though we don’t in this case). We’ll revisit this when we do AJ’s advisor.
Like all D’s, @yass has a [case] feature.

DP

/\

D nP

Dmass
[case] n <NP>

/\

N n

event- [2NE]
planning

Now, we can build up [,p PRO to study event-planning]:

Merge study and DP.
Study is a transitive verb, so it needs an object (it has a [uD*] feature), which will receive the Theme 0-role.
Merging study with a DP will check the [uD*] feature of study.
Since study motivated the Merge (by having a feature checked), V projects.

VP
/\
A% DP
study T
[¢#D*] D nP
Dmass
[case] n <NP>
/\
N n
event- [2NE]

planning



Merge v and VP.
Motivated by the Hierarchy of Projections (C > T > (NegP) > (MP) > (PerfP) > (ProgP) > (PassP) >v > V), since VP is done.
Study is a transitive verb, so the v has a [uD*] feature—it needs a DP that will receive the Agent 0-role.
When v has a [uD*] feature, it also has an [acc] feature.
Like all v’s, this v also has a [ulInfl:] feature, and [uV*] feature.
The [acc] feature of v matches and values the [case] feature of D, checking both.

uV*, ulnfl:] A% DP
study T
[#D*] D nP
Dnass
[ace] n <NP>
/\
N n
event- [2NE]

planning



Move V to v
v has a [uV*] feature, which can only be checked locally (in what amounts to a sisterhood relation).
So V must move up and adjoin to v. This checks the [uV*] feature of v.

V
v/\P
/\ /\
\Y % <V> DP
study  [uD*, aee, T
[#D*]  uNVZE, ulnfl:] D nP
Dnass
[ace] n <NP>
/\
N n
event- [2NE]

planning



Merge v' and PRO.
The Agent of study is PRO. PRO is essentially a pronoun, it is of category D.
Like all D’s, PRO has a [case] feature.
This Merge checks the [uD*] feature of v, which is the last of v’s strong features. The v projects, for the last time, to vP.

/\ /\
A% v <V> DP
study [#D%, aee, T
[#D*]  &#VE, ulnfl:] D nP
Dnass
[ace] n <NP>
/\
N n
event- [2NE]
planning

And now we can finish the CP...



Merge vP and to.
This clause is nonfinite, which means that we need both the infinitive marker (modal) fo and a nonfinite T.
Motivated by the Hierarchy of Projections (C > T > (NegP) > (MP) > (PerfP) > (ProgP) > (PassP) > v > V), since VP is done.
The category feature of the modal o matches, values, and checks the [uInfl:] feature of v (as [#nf:M]).

/\ /\
\Y % <V> DP

study [#D%, aee, T

[#D*]  uVE, winfl:M] D nP
DMASS

[ace] n <NP>
/\
N n

event- [2NE]

planning



Merge MP and T.
Motivated by the Hierarchy of Projections (C > T > (NegP) > (MP) > (PerfP) > (ProgP) > (PassP) >v > V), since MP is done.
This clause is nonfinite, so T has no case features and no ¢-features.
Like all T’s, this T has a [uD*] feature (a.k.a. the “EPP feature”).
Since T still has a strong uninterpretable feature (the EPP feature), the label of this step is T'.

T/

'1/\MP

linf, ulD¥] ~ _——

/\ /\
A% v <V> DP

study [#D%, aee, T

[#D*] &V, wlnflM] D nP
Drass

[ace] n <NP>
/\
N n

event- [2NE]

planning



Move PRO to SpecTP
To satisfy the last strong uninterpretable feature of T, we move the nearest D (the nearest feature to match [uD*]) into
the specifier of TP. This checks the [uD*] feature of T.

TP

o T
PRO 1/\
[case] MP
[inf, #D*] T

M vP

1o /\
<DP> v

/\ /\
\Y % <V> DP

study [#D%, aee, T

[#D*]  wVE, winfl:M] D nP
DMASS

[ace] n <NP>
/\
N n

event- [2NE]

planning



Mel‘ge CNULL With TP
When the subject is PRO, it needs to have null case. The only way to check null case is with the special C (CyypL)-
So, we Merge Cyyyp, With the TP, and the [null] feature of Cyyyp 1, matches, values, and checks the [case] feature of PRO.

Cp

Cn LL/\P
[nuh] D/\’
VP

linf, ubx] ——

M vP

1o /\
<DP> v

/\ /\
A% v <V> DP
study [#D%, aee, T
[#D*] &V, lnfl:M] D nP
Dnvass —
[ace] n <NP>
/\
N n
event- [2NE]
planning

Ok, now let’s move on to build the [Cp that AJ might want [Cp ...] ]. I will from here on draw the CP we just built ([cp CyuLL
PRO to study event-planning]) as just CPstudy’ to save space.



Merge want with CPg,dy
Want is a transitive verb that can take a CP as its complement. So, V has a [uC*] feature that is checked by this Merge.
Note: Want can also take a TP as its complement in other circumstances (for example, I want him to leave). In that case,
we would assume want has a [uT*] feature instead. And want can also take a DP (for example, I want lunch), in
which case we would assume want has a [uD*] feature. We basically suppose that there are three versions of want
we can choose from. In this case we want the one with the [uC*] feature, since it takes a CP.

VP
/\
v CPstudy
want PRO to study
[#CE%] event-planning

Merge v with VP

HoP.
Here we have to assume that v, while in principle capable of checking accusative case (generally correlated with having

a [uD*] feature for an Agent or an Experiencer), does not have an [acc] feature, because it would have no way of
being checked (since the object of this transitive verb is a CP, and CPs don’t need case).

v/\P

[uD*, uV*, T
want PRO to study

[#CE%] event-planning



Move V to v
Checks [#V*] on v.

/\ /\
want  [uD*, u V%, PRO to study

[#C%] ulnfl:] event-planning

We’ll pause for a moment to build the DP AJ that we’ll need to Merge with v'.

Merge AJ and n.
HoP.

nP

TN

n NP
[uN*] AJ

Move N to n.
Checks the [uN*] feature of n.

nP
/\
n <NP
/\
N n

AJ [#N]



Merge nP and @PROPER.

HoP.
DP
/\
D nP
QPROPER
[case, n <NP>
¢:3sg] T
N n
AJ [2NE]

Now, we can return to our v'...

Merge DP and v'
Checks [#D*] on v.

o I
5 7 Tp

DpROPER T
[case, n <NP> \Y v <V> CPstudy
¢:3sg] T want [uInfl:, PRO to study
N n [#CE]  uVE, uD*] event-planning

AJ [#N]



Merge might and vP
HoP.
The category feature of might matches, values, and checks the [uInfl:] feature on v.

MP
/\
M [
might o T~

[aux, ulnfl:]
D/ T v
D/\nP v/\P

DpROPER N T
[rom, n <NP> \% v <V> CPgtydy
¢:3sg] T want  [#HafhM, PRO to study
N n [#C%] & VE, D] event-planning

AJ [#N]



Merge T and MP
HoP.
The [nom] feature of T matches, values, and checks the [case] feature on AJ.
The [¢:3sg] feature of AJ matches, values, and checks the [u¢:] feature on T.
The [tense:past] feature of T matches and values the [uInfl:] feature on M as strong.
T has a [uclause-type:] feature like all finite Ts do.

T/
/\
— T
MP

[uD*, nom, T T~

w.3sg, tense:past, _— T~
uclause-type:] M vP

might T

[aux, ulnfl:past*] T~
D/ V'
/\ /\
D v P

nP
@PROPER /\

[rom, n <NP> \Y v <V> CPstudy
¢:3sg] T want  [#HafhM, PRO to Study
N n [#CE]  uVE, yDX] event-planning

AJ [#N]



Move M to T
Checks the [ulnfl:past*] feature of M.

- T wp
M/\T <M>/\VP

[aux, #:3sg, tense:past, T~
winfl:pastt] uclause-type:] D/ V'
/\ /\
D nP v P
DpROPER TN T~ T
[nom, n <NP> \% v <V> CPgtudy
¢:3sg] T want  [#HafhM, PRO to study
N n [#CE]  uVE, yD*] event-planning

AJ [#N]



Move AJ to SpecTP
Checks the [uD*] feature of T.

o T

/\

D 7P —_

Drroper T 1/ MP

[rom, n <NP> /\l‘

¢:3sg] T M <M> vP

N n might [#D%, nom, /\

AJ [aux, #@:3sg, tense:past, <DP> v

winfl:pastt] uclause-type:] /\

1 P

/\
want  [#HafhM, PRO to study

[#CE]  uVE, yDX] event-planning



Merge that and TP
HoP.
The [clause-type:decl] feature of C matches, values, and checks the [uclause-type:] feature of finite T.

h/ T
that /\

[decl] b / \/

/\ /\

D nP T~
Drroper Py 1/ MP
[nom, n <NP> /\r
¢:3sg] T M <M> vP

N n might [#D%, nom, /\

AJ [aux, #@:3sg, tense:past, <DP> v

ulnfl:past™| uelause-type:decl] /\
1 P

/\ /\
want  [#HafhM, PRO to study
[#CE]  uVE, yDX] event-planning

Phew. Ok, now, moving up to [Ccp AJ’s advisor was told [cp ... ]]. Here again, for space reasons, I’ll abbreviate the CP we just built.
This one, we’ll call CPygpt.

Since we’re going to need it later, let’s start by building AJ’s advisor—and let’s start that by building AJ, which works just like it did
last time we built AJ.



Merge AJ and n, Move N to n, and Merge rP and Opropgg-
HoP. Check [uN*]. HoP.

DP
T

D nP

DPROPER
[case, n <NP>

¢:3sg] N/\

n

AJ [uN*]

Now, on to AJ’s advisor. This is a possessor-possessee relation, so AJ is going to get the Possessor 0-role. We know that Possessors
start in SpecPossP, so we need a PossP.

Merge advisor and n, move N to n, and Merge Poss and nP.
HoP. Check [uN*]. HoP.

Poss’
Poss nP
[uD*] /\
n <NP>
/\

N n
advisor [2NE]



Merge AJ and Poss'.
Checks the [uD*] feature of Poss.

PossP
D/\Poss’
/\ /\
D nP Poss nP
?DPROPER T [#DE]
[case, n <NP> n <NP>
¢:3sg] /\ /\
N n N n
AJ [2NE] advisor [2NE]
Merge PossP and Dggn
HoP.

The [gen*] feature of DGy matches and values the case feature of AJ, but cannot check it until the features are local.

D/
/\
D T
0 PossP
[gen*, /\
¢:3sg, D Poss’
case] /\ /\
D nP Poss nP
?DPROPER T [#DE]
[gen, n <NP> n <NP>
¢:3sg] N /\ N /\
n

n
AJ [2NE] advisor [2NE]



Move AJ into SpecDP
Checks the [gen*] feature of Dggy.

QPROPER /\ g PossP
[g%ﬁ, n <NP> /\
¢:3sg] T [gen®, <DP> Poss’
N n case,

¢:3sg] Poss nP
[#D%]
n <NP>
/\

N n
advisor [2NE]

There, that’s AJ’s advisor. Now, we can return to AJ’s advisor was told CP,,,;.
Tell 1s ditransitive, and also is in the passive form (was told). With that in mind, we begin:

Merge tell with CPwqant

Tell is a ditransitive verb that takes a CP complement and a DP Theme.
So, V has a [uC*] feature and a [uD*] feature. The [uC*] feature is checked by this Merge.

V/
/\
tell AJ might want
[#C%, uD*] PRO to study

event-planning



Merge AJ’s advisor with V'.
This checks the [uD*] feature of V.

o T
D/\\, V/\prant

T~ tell AJ might want
D nP T [#C*, #D*] PRO to study
?PROPER D PossP event-planning
[gen, n <NP> ] Py
¢:3sg] T [gen®, <DP> Poss’
N n case, T
AJ [2NE] ¢:3sg] Poss nP
[#D*]
n <NP>
/\

N n
advisor [2INE]



Merge v with VP
HoP.
This is a passive, so v does not have an Agent or Experiencer, hence no [uD*] feature and no [acc] feature.

—  Tw

[uV*, ulnfl:] T
o i
/\
D/\\, \ CPyant

T tell AJ might want
D nP T [#CE, uD*] PRO to study
DPROPER D PossP event-planning
[gen, n <NP> ] Py
¢:3sg] [gen®, <DP> Poss’
N/\n case, T
AJ (2] ¢:3sg] Poss nP
[#D*]
n <NP>
/\
N n

advisor [2eINE]



Move V to v
Checks the [#V*] feature of v.

vP
/\
/
\% \P
v
tell [N, ulnfl:] o %
P N \’ AJ might want
D nP T PRO to study
?DPROPER T D PossP event-planning
[gen, n <NP> ] Py
¢:3sg] T [gen®, <DP> Poss’
N n case, T
AJ [2NE] ¢:3sg] Poss nP

[#BE]

N
advisor [2INE]




Merge Pass with vP
HoP.

The category feature [Pass] matches, values, and checks the [ulnfl:] feature of v.

P B
[uIbIleﬂI] ] //\\P
V/\v T

tell  [#nfl:pass,

[#CE, uD%]  #VX] /\ T
D <V> CPwant
T~ \' AJ might want
D nP T PRO to study
DPROPER D PossP event-planning
[gen, n <NP> ] Py
¢:3sgl T [genx, <DP> Poss’
N n case, T
AJ (2] ¢:3sg] Poss nP
[#D*]
n <NP>
/\
N n
advisor [2eINE]



Merge T with PassP
HoP.
The [nom] feature of T matches, values, and checks the [case] feature of AJ’s advisor.
The [¢:3sg] feature of AJ’s advisor matches, values, and checks the [u¢:] of T.
The feature [tense:past] matches, values the [uInfl:] feature of Pass (along with the ¢ features).
It does not check, because when a tense features values a [uInfl:] feature of an auxiliary, it is strong.

T/
[tense:past, PassP
#h.3sg, T
nom, uD¥*, Pass T
uclause-type:] be vP
[uInfl:past3sg] T
el i
Py T

A% v T
tell  [winfl:pass, D/ \'%A

[#Ck uD%] V] /\ T
D \ <V> CPwant

P AJ might want
D nP T PRO to study
DPROPER D PossP event-planning
[gen, n <NP> ] Py
¢:3sgl T [genx, <DP> Poss’
N n nom, /\
AJ (2] ¢:3sg] Poss nP
[#D*]
n <NP>
/\
N n

advisor [2NE]



Move Pass to T
This checks the [ulnfl:] feature of Pass.

T/

1/\\

/\1‘ PassP
Pass
be [tense:past, <Pass> vP
[#nfl:past3sg] weh:3sg, —
rem, uD*, ) —
uclause-type:] \P
v
tell [#nfkpass, D/ \'%
P . \' AJ might want
D nP T PRO to study
?PROPER D PossP event-planning
[gen, n <NP> ] Py
¢:3sg]l T [gen®,  <DP> Poss’
N n nom, T
AJ [2NE] ¢:3sg] Poss nP
[#D*]
n <NP>
/\
N n
advisor [2eINE]



Move AJ’s advisor to SpecTP
This checks the [uD*] feature of T.

DPROPER
[gen,
¢:3sg]

n <NP>
™~
N n
AJ [NE]

TP
/\
\\
PossP /\1‘ \PassP
Pass /\
<DP> Poss’ be [tense:past, <Pass> vP
[#dnfh:past3sg]  u¢:3sg, /\

Poss nP nom, #P*, v P

[1D%] uclause-type:] "~
n <NP> \Y v <DP>
T tell [#nfl:pass,
N n [#CZ, wVE] <V>

advisor — FNE] #D*]

V/



Merge C and TP
HoP.
The [clause-type:decl] feature of C checks the [uclause-type:] feature of T.

0 —
[deil]/D< | R
D 1/\

/\
5 e D PossP T T aw
DPROPER 0 T Pass T
[gen, n <NP> [gen®, <DP> Poss’ be [tense:past, <Pass> vP
$:3sg]l [~ RO, T [#nfl:past3sg]  #¢:3sg, /\
N n ¢:3sg] Poss nP nom, u#b*, v |3
AJ [u#N%] [#DE] uelause-type:decl] T T
n <NP> \Y% v <DP> \%
T tell [#nfl:pass, P
N n [#C%, #VE] <V> CPwant
advisor [NE] uD*]

There, great. One more clause to go. We’ll call the CP we just build CPye|j. This last one is pretty straightforward.
We’ll start by building Carmela, which we’ll need shortly:



Merge Carmela and n, Move N to n, and Merge nP and Opropgg-
HoP. Check [uN*]. HoP.

DP
T

D nP

DPROPER
[case, n <NP>

¢:3sg] N T
n
Carmela  [uN%]

Merge say and CPqg]j.

Say is a transitive verb that takes a CP complement (it has a [uC*] feature).
Merging say with a DP will check the [uC*] feature of say.

VP
/\
\ CPreq
say
[#C*]

Merge v and VP.
HoP.
Say is a transitive verb, so the v has a [uD*] feature—it needs a DP that will receive the Agent 0-role.
Note: Here too, like with want, we must assume that v doesn’t have an [acc] feature, since it wouldn’t
have anything that could check it.

!

v
—  Tw
[I/lD>I< , /\
uV*, \Y CPtenl
ulnfl:] say

[#E]



Move V to v
This checks the [u#V*] feature of v.

Merge v' and Carmela.
The Agent of say is Carmela, the DP we built before.
This Merge checks the [uD*] feature of v, which is the last of v’s strong features. The v projects, for the last time, to vP.

D/\nP v/\P

QPROPER T T TS
[case, n <NP> A% v <V> CPtenl
¢:3sgl T~ say [#D*,

N n [#C*] V%, ulnfl:]

Carmela  [uN%]



Merge T and vP
HoP.
The [nom] feature of T matches, values, and checks the [case] feature of Carmela.
The [¢:3sg] feature of Carmela matches, values, and checks the [u¢:] of T.
The feature [tense:past] matches, values, and checks the [ulnfl:] feature of v (along with the ¢ features).

T/
T/\\
[tense:past, vP
uclause-type:, T

nom, uD*
#@:3sg] D/ \v’

D/\nP v/\P

?DPROPER T T S
[rom, n <NP> \% v <V> CPtenl
¢:3sg] T say [,

N n [#C*] ETAVA-S

Carmela [2NE] ulnﬂ:pa’sﬁ sg]



Move Carmela to SpecTP
Checks the [uD*] feature of T.

DPROPER
[nom n <NP>

¢:3sg] N T
n
Carmela  [#N%]

1/\\

[tense:past, vP

uclause-type:, /\
nont, #D* <DP> v

#:3sg]

%
say [,
[#C*] HVE,
#infl:past3sg]

<V>

CPrel



Merge C and TP
The [clause-type:decl] feature of C matches, values, and checks the [uclause-type:] feature of T.

CP
%, \P
[decl] T

5 T —_

0 [tense:past, vP
FnRgg::R n/E\IP> uelause-type:decl, /\
¢:3sg]l T~ nom, #D* <DP> v
N n #e¢:3sg] /\
Carmela [2NE] v P
T T
\" v <V> CPtenl
say [#D*,
[#E*] HVE,
w#nflpast3sg]

Fantastic. We’re done, no uninterpretable features left to check.

You might perhaps find it amusing to see it all put together. See the last page.

Next sentence:

The continuous drawing of complicated trees builds strong character.

This one is much simpler, in that it doesn’t have so many clauses. The main verb is builds. The subject is The continuous drawing of
complicated trees and the object is strong character.



Let’s start with strong character. Character here is a mass noun, so let’s build it up.

Merge character and n.
HoP.

nP

T
NP

n
[uN*]  character

Move N to n.
This checks the [uN*] feature of n.

nP
/\
n <NP>
/\

N n
character-  [#N%]

Adjoin strong to nP.
Strong is an adjective, which we adjoin to nP.

nP
Ade/\

nP
strong "
n <NP>

/\
N n
character-  [#N%]



Merge nP and Qy;xss.

HoP.
DP
/\
D nP
DMASS
[case] Ade/\nP
strong "
n <NP>
/\
N n

character-  [#N%]

Movin’ on up, to the VP...

Merge build and nP
Build is transitive, it has a [uD*] feature for the Theme. This Merge checks that feature.
VP
/\
\% DP
build T
[eD%] D nP
Dmass
[case] Ade/\nP
strong "
n <NP>
/\
N n

character-  [#N%]



Merge v and VP
HoP.
Build is transitive, so the v has a [uD*] feature for the Agent, and a corresponding [acc] feature.
The [acc] feature matches, values, and checks the [case] feature on D.

—  Tw

[uD*, uV*, T~

ulnfl:, \Y DP
aee] build T
[#D*] D nP
DOMASS
ace]| Ade/\nP
strong "
n <NP>
/\
N n

character-  [#N%]



Move V to v
Checks the [#V*] feature of v.
Build is transitive, so the v has a [uD*] feature for the Agent, and a corresponding [acc] feature.

N n
character-  [#N%]

Now is where we would Merge the Agent, but we have to build it first, and it’s pretty complicated: The continuous drawing of
complicated trees.

Merge trees and n.
HoP.

nP
/\
n NP
[uN*] trees



Move N to n.
This checks the [uN*] feature of n.

nP
/\
n <NP>
/\
N n
trees- [2NE]

Adjoin complicated to nP.
Complicated is an adjective, which we adjoin to nP.

nP
Ade/\nP
complicated
n <NP>
/\
N n
trees- [2NE]
Merge nP and Qp; .
HoP.
DP
/\
D nP

DpL. d/\
[case, AdjP nP

¢:3pl]  complicated
n <NP>
/\
N n
trees- [2NE]



Drawing is a (deverbal) transitive noun. In particular, it has a Theme 0-role to assign, and a [uD*] feature to go with it.

Merge drawing and DP (complicated trees).
Checks the [uD*] feature of drawing.

1\/\1)1)

drawing T
[#D*] D nP

DpL. d/\
[case, AdjP nP

¢:3pl]  complicated
n <NP>
/\
N n
trees- [2NE]



Merge n and NP
HoP.
Looking ahead, we see that there isn’t going to be an Agent (because the determiner is going to be the),
so, this n does not have a [uD*] feature for an Agent. However, it still has the [of] case feature.
The [of] case feature of n values and checks the [case] feature on complicated trees, checking itself in the process.

n/\NP
[uN*, ]\/\
of] DP

drawing T
[#D*] D nP

QPL d/\
[of, AdjP nP

¢:3pl]  complicated
n <NP>
/\
N n
trees- [2NE]



Move N to n
Checks the [uN*] feature of n.

drawing [N, T
[eD%] of] nP

D
QPL d/\
lof, AdjP nP

¢:3pl] complicated

n <NP>
/\
N n
trees- [2NE]
Adjoin continuous to nP
Continuous is an adjective, so we adjoin it to nP.
nP
Ade/\nP
continuous /\N
n P
/\ /\
N n <N> DP
drawing [N, T
[eD%] of] D nP

QPL d/\
lof, AdjP nP

¢:3pl]  complicated
n <NP>
/\
N n
trees- [2NE]



Merge the and nP

HoP.
DP
/\
D nP

the d/\
[case, AdjP nP
¢;3sg]  continuous /\N
n P

/\ /\
N n <N> DP
drawing [N, T
[2eD%] of] D nP

QPL d/\
[of, AdjP nP

¢:3pl]  complicated

n <NP>
/\
N n
trees- [2NE]

Ok, now we can get back to our main clause already in progress. We merge the DP we just built in with the vP as the Agent.



Merge DP with vP
Checks the [uD*] feature of v.

vP
/\
/ \/
v
op —
T v P
the d/\ \Y v <V> DP
[case, AdjP nP build [uD®,uwVE, T
¢;3sg] continuous /\N [#D*] ulnfl:, D nP
Py Py [aee] Ade/\nP
N n <N> DP strong "
drawing [N, T n <NP>
[1D%] of] D nP /\
[6f. AdjP nP character  uN%]
¢:3pl]  complicated
n <NP>
/\
N n

trees- [2NE]



Merge T with vP
HoP.
The [nom] feature of T matches, values, and checks the [case] feature of the continuous drawing.. ..
The [¢:3sg] feature of the continuous drawing... matches, values, and checks the [u¢:] of T.
The feature [tense:pres] matches, values, and checks the [uInfl:] feature of v (along with the ¢ features).

- I

[tense:pres, T
uclause-type:, — T
nrom, uD*, / V'
#:3sg] D /\
T v P

the d/\ \Y % <V> DP
[nom, AdjP nP build [#D*,#V*, T

¢;3sg]  continuous /\N [#D%] waflpres3sg, D nP
Ade/\nP

N n <N> DP strong "
drawing [N, T n <NP>
[1D%] of] D nP /\

Dpy, d/\ N n
lof, AdjP nP character  FuN%]

¢:3pl]  complicated
n <NP>
/\
N n
trees- [2NE]



Move the subject DP into SpecTP
Checks the [uD*] feature of T.

—7 — — w

nP [tense:pres, Py

the d/\ uclause-type:, <
|nom, AdjP nP nom, uP*, /\
¢;3sg] continuous /\N #e¢:3sg] v P
n P T

/\ \% <V> DP
7 build [P, 4\, T
drawing [N, T [#D*] ulnfl:pres3sg, D nP

Op1. d/\ [ace] Ade/\nP

lof, AdjP nP strong

¢:3pl]  complicated T n <NP>

n <NP> /\
/\ N n
N n character  [uN%]

trees- [2NE]



Merge C with TP
HoP.
Checks the [uclause-type] feature of T.

Cp
/\
@/ B
/\
[decl] — /
D/ 1>\
/\
D nP [tense:pres, x

[nom, AdjP nP

/\
uelause-type:decl, <DP> V'

nom, #bD*, /\
¢;3sg]  continuous /\N #e¢:3sg] v P
n P /\ /\
/\ /\ A \% <V> DP
N n <N> DP build [uD%,uVE, T
drawing [N, T [#D*] ulnfl:pres3sg, D nP
Op1. d/\ [ace] Ade/\nP
[6f. AdjP nP strong
¢:3pl]  complicated T n <NP>
n <NP> /\
/\ N n
N n character  uN%]
trees- [2NE]

And we’re done, no uninterpretable features left to check.



CAS LX 522 Syntax 1 The whole tree

| Carmela said AJ’s advisor was told that AJ might want to study t:

CP
0 T
[decl] /\T
o —
T vP
D nP [tense:past,
DpropPER nom, ub* <D{\v’

[hom. P e

ue:3sg, /\
:3sg] 5 :decl] P
¢:3sg ‘\/\n Hekause-type: v

<\>/\P

Carmela [aNE] v
say [#D%,
[#€*] #VE, P
wlnfl:past3sg] @ [decl]

/\T"
_— T/\

P/\) Pa{\T
D] ! be [tense:past,

[#dnflpast3sg]  uer3sg,
D nP D PossP nom, uDX,
QPROPER/I\} (7] uelause-type:decl
[gen, n <NP> [gent, <DP> Poss’
¢:3sg]l [~ Ao,
N =n ¢:3sg] Poss npP
AJ [#NE] [#D%]
n <NP>
‘\/\n
advisor FaelNE]

PassP
<Pass> vP
v/\VP
]
\/\v <D{\V'
tell [#dnfl:pass,
[6C, #VE] <V> P
#b%]
— T
that T T~
[decl] - T
o e

/\

D P /\T <M>
DBorors might [#D%,
e o,
$:3sg] w:3sg]

N/\n uelause-type:decl]

AJ [eNE]

vP

<D{\v’

want
[wCx]

v/\VP

[inf:M
#VE pD¥] CN&L

[muh]

\/\v <\>/\P
. T~

or T

— v

P
\/\v <V> DP
study — [#D%, aee,
[#D*] &V, wnfliM] D nP

onss e
NS

n
event- [aeNEE]

planning



